MANATEE COUNTY GOVERNMENT INTENT TO AWARD

			, , ,
SUBJECT	Sod, Fertilizer, Herbicides, and Other Related Aquatic Chemica		MC V 11/7/14 SE DS V 11/7/14 SE CC V 11/7/14 SE
PURCHASING REPRESENTATIVE	Donna M. Stevens, Ext.304	DATE CONTRACT SHALL BE AWARDED	7 days after posting
DEPARTMENT	Various	CONSEQUENCES IF DEFERRED	Disruption in County Wide Blanket coverage.
SOLICITATION	IFB #14-2696-DS	AUTHORIZED BY DATE	Melissa Wendel, CPPO ///
	NOTICE OF I	NTENT TO AWARD	
	ENABLING/REG	BULATING AUTHORITY	
Federal/State law(s), admin		Comp Plan/Land Development Code, ordin	nances, resolutions, policy.
	Manatee Co	ounty Code of Laws	
	ne procurement of sod, seed, an "as required basis", for a	UND/DISCUSSION fertilizers, herbicides, and other relat aquatic control of the stormwater s	
		funding sources such as Transportate erating accounts for each Departmen	
This contract is for a twent contract duration of forty eight		one (1) twenty four (24) month rene	ewal period not to exceed tota
 Background/ discussion infe 	ormation continued on page 2	2.	
ATTACHMENTS (List in order of attached)	Bid Tabulation of all Bids Award Tabulation Sheet	FUNDING SOUR (Acct Number & Nam	X Funds Verified
COST	\$550,000 (2 year contract estimate)	AMT/FREQ OF RECURRING COS (Attach Fiscal Impact Stateme	TS Insufficient Funds

- Appropriate bid procedures were followed. Notice of Bid availability advertised on DemandStar, mymanatee.org and the Manatee Chamber of Commerce.
- Nine (9) Bids were received.
- Basis of award for IFB #14-2696-DS as stated in Article C.01 of the bid documents, is a line item by line item basis to the lowest responsive, responsible multiple bidders meeting specifications for each item as listed on the Bid Form. Award shall be to a Primary (lowest, responsive, responsible bidder), and Secondary (second lowest responsible bidder).
- It is the intent to place release orders with the lowest priced bidder, who can provide the products at the time needed. Should the lowest priced bidder be unable to supply the products due to availability, a contingency plan has been established to contact the next lowest bidder.

	TABULATION	T			Alligare LLC				Dieter	s Sod Servi	se Inc			lorida Irrigation 5	Supply Inc. DR	& EIS Outdoor			Helena Che	mical Com	nsmv			Red River	Specialties, I	Inc.	
\vdash	IFB# 14-2696-DS				N. 8th Stre					Zipperer i					Calumet Stree					Вож 1758	perry			1324 North Hea			\neg
											4040				51 2275			- Davids	m. n 22526 42	ra i odk	!- B-!	e: \	:	Shaquan	ort, LA 7110	a l	J
Sc	d, Fertilizer, Herbicides and other related Aquatic Chemicals				elika, AL 36 It of state fi					enton, FL 3 tee County					vater, FL 3376 as County Fire			Dage	City, FL 33526-17 (Pasco (County Firm		FLI			f state firm)		
ITEN	DESCRIPTION/ PRODUCT NAME	CONTAINER SIZE	ALTERNATE	ESTIMATED QTY			EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	и/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED CITY	и/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	и/м П	UNIT PRICE	EXTENDED PRICE
SOD8							1									1				1		1					
11	BAHIA SOD												<u> </u>														
A	1-4 PALLETS (400 SF - 1,999 SF)								6																		
	a. DELIVERED AND SPOT PLACED			6,000	5F	No	Bid		6,000	5F	\$ 0.27	\$ 1,620.00		6,000	SF	No	Bid		6,000	5F	No	Bid		5,000	SF	No	Bld
1	b. COUNTY PICK UP			800	5F	No	Bid		800	SF	\$ 0.195	\$ 156.00		800	SF	No	Bid		800	5F	No	Bld		800	SF	No	Bld
	c. DELIVERED & INSTALLED (Pallet Sod)			4,000	SF	No	Bid		4,000	SF	\$ 0.33	\$ 1,320.00		4,000	SF	No	Bld		4,000	SF	No	Bld		4,000	SF	No	Bld
В	5-9 PALLETS (2,000 SF - 3,999 SF)																										
1	a. DELIVERED AND SPOT PLACED			5,600	SF	No	Bld		5,600	SF	\$ 0.25	\$ 1,400.00		5,600	5F	No	Bid		5,600	SF	No	Bid		5,600	SF	No	Bid
	b. DELIVERED & INSTALLED (Pallet Sod)			7,600		No	Bid		7,600		\$ 0.28			7,600	SF	No	Bid		7,600	SF	No	Bid		7,600	SF	No	Bid
				1,800		No	Bid		1,800		\$ 0.32			1,800	SF	No	Bid		1,800	SF	No	Bid		1,800	SF	No	Bld
	c. SLOPE DELIVERY & INSTALLATION (Pallet Sod)			1,500	J.	NO	BIU		2,400	3	9 0.52	3 370.00		1,000		,,,,			1,000	51							
C	10-24 PALLETS (4,000 SF - 9,999 SF)																										
1	a. DELIVERED AND SPOT PLACED			4,000	5F	No	Bid		4,000	SF	\$ 0.22	\$ 880.00		4,000	SF	No	Bld		4,000	SF	No	Bid		4,000	SF	No	Bid
1	b. DELIVERED & INSTALLED (Pallet Sod)			8,000	5F_	No	Bid		8,000	SF	\$ 0.26	\$ 2,080.00		8,000	SF	No	Bld		8,000	SF	No	Bid		8,000	SF	No	Bid
⊢	c. SLOPE DELIVERY & INSTALLATION (Pallet Sod)			12,500	SF	No	Bld	-	12,500	SF	\$ 0.29	\$ 3,625.00		12,500	SF	No	Bid		12,500	SF	No	Bid		12,500	SF	No	Bid
D	25 PALLETS OR MORE (10,000 SF OR MORE)						<u> </u>																<u>-</u>				
1	a. DELIVERED & INSTALLED (Pallet Sod)			225,000	SF	No	Bld		225,000	SF	\$ 0.21	\$ 47,250.00		225,000	\$F	No	Bid		225,000	SF	No	Bid		225,000	SF	No	Bid
	b. SLOPE DELIVERY & INSTALLATION (Pallet Sod)			400,000	SF	No	Bid	1	400,000	SF	\$ 0.29	\$ 116,000.00		400,000	SF	No	Bid		400,000	5F	Na	Bld	<u> </u>	400,000	SF	No	Bid
2	ST. AUGUSTINE- FLORATAM																										
A	1-4 PALLETS (400 SF - 1,999 SF)														ŊĒ.												
	a. DELIVERED AND SPOT PLACED			7,600	SF	Na	Bid		7,600	SF	\$ 0,36	\$ 2,736.00		7,600	SF	No	Bid		7,600	SF	No	Bid	<u> </u>	7,600	SF	No	Bid
	b. COUNTY PICK UP			800	SF	No	Bld		800	SF	\$ 0.26	\$ 208.00		800	SF	No	Bid		800	5F	No	Bid		800	ŞF	No	Bld
	c. DELIVERED & INSTALLED (Pallet Sod)			3,200	SF	No	Bld		3,200	SF	\$ 0.52	\$ 1,664.00		3,200	SF	No	Bid		3,200	SF	No	Bld		3,200	SF	No	Blid
	d. SLOPE DELIVERY & INSTALLATION (Pallet Sod)			250	SF	No	Bld		250	SF	\$ 0.58	\$ 145,00		250	SF	No	Bld		250	SF	No	Bld		250	SF	No	Bid
В																											
	a. DELIVERED AND SPOT PLACED			2,500	SF	No	Bld		2,500	SF	\$ 0,39	\$ 975.00		2,500	SF	No	Bid		2,500	SF	No	Bid		2,500	SF	No	Bld
			H	4,800		No	Bid					\$ 2,304.00		4,800	SF	No	Bid		4,800		No	Bld		4,800		No	Bld
	b. DELIVERED & INSTALLED (Pallet Sod)			4,800	JP.	MO	, old		4,600	3r	y 0.46	2,304.00		4,000	JF.	NO.	and .		4/400		100						
3	419 BERMUDA SOD																										
A						4														-					SF	N.	Dr. 1
	a. DELIVERED AND SPOT PLACED			500		No	Bid		500		\$ 0.44		Tues .	500	SF	No	Bid		500		No	Bid		500		No	Bld
-	b. COUNTY PICK UP			800		No	Bid		800		\$ 0.36			800	5F	No	Bid		800		No	Bid		800	1	No	Bld
	c. DELIVERED & INSTALLED (Pallet Sod)			1,600	SF	No	Bld		1,600	5F	\$ 0.44	\$ 704.00	L	1,600	SF	No	Bld		1,600	SF	No	Bid		1,600	5F	No	Bid

	TABULATION	Ι			Alligare LLC				Dieter's	Sod Servi	ce, Inc.	<u>.</u>	Flo	orida Irrigation :	Supply Inc. DBA	FIS Outdoor			Helena Che	emical Com	pany			Red Rive	r Speciaities	s, Inc.	
	IFB# 14-2696-D\$				3 N. 8th Str				2315	Zipperer A	load			1740	Calumet Street				P.O.	Box 1758				1324 North Hea	rne Avenur	, Suite 120	
1				0-	elika, AL 36	:003		:	Brade	enton, FL 3	1717			Clean	water, FL 33765			Dade (City, FL 33526-17	SS (Office	in Palmetto	(FL)		Shreve	port, LA 711	107	
300	Fertilizer, Herbicides and other related Aquatic Chemicals				ence, AL Su at of state f					tee County					as County Firm					County Firm					of state firm		
							EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	и/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	и/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	υ/м	LINIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	и/м	UNIT PRICE	EXTENDED PRICE
ITEM	DESCRIPTION/ PRODUCT NAME	CONTAINER SIZE	ALTERNATE	ESTIMATED QTY	U/M	DNITPRICE	EXTENDED PRICE	ALIERMATE	ESTIMATEDIQIT	U/M	ONII PRICE	EXTENDED PAICE	ALTERNATE	ESTIMATED CIT	O/m	OHIT PRICE	EXTENDED PRICE	ALIEMANE	- Dimensional	Open	GIAIT TIME		VILIE III				
	d. ROLLED SOD- DELIVERED & INSTALLED			200	SF	No	Bid		200	SF	\$ 0.46	\$ 92.00		200	5F	No	Bid		200	SF	No	Bid		200	SF	No	Bid
В	5-9 PALLETS (2,000 SF - 3,999 SF)				ļ																						
	a. DELIVERED & INSTALLED (Pallet Sod)			8,000	SF	No	8id		8,000	5F	\$ 0.43	\$ 3,440.00		8,000	SF	No	Bid		8,000	SF	No	Bld		8,000	SF	No	Bid
	b. ROLLED SOD- DELIVERED & INSTALLED			4,000	SF	No	9id		4,000	SF	\$ 0.45	\$ 1,800.00		4,000	SF	No	Bld		4,000	ŞF	No	Bid		4,000	SF	No	Bid
С	10-24 PALLETS (4,000 5F - 9,999 SF)																										
	a. DELIVERED & INSTALLED (Pallet Sod)		Ë	12,000	SF	No	Bid		12,000	SF	\$ 0.41	\$ 4,920.00		12,000	SF	No	Bld		12,000	SF	No	Bid		12,000	SF	No	Bàd
											Ĭ			4,000	SE	No	Bid		4,000		No	Bid		4,000		No	Bid
	b. ROLLED SOD- DELIVERED & INSTALLED			4,000	5F	No	Båd		4,000	SF	\$ 0.42	\$ 1,680.00		4,000	SF	NO	Big		4,000	31	, no	DAG		4,000			
D	25 PALLETS OR MORE (10,000 SF OR MORE)		-									I									-						
	a. DELIVERED & INSTALLED (Pallet Sod)			38,000	SF	No	Bid		38,000	SF	\$ 0.39	\$ 14,820.00		38,000	SF	No	Bid		38,000	SF	No	Bid		38,000	SF	, No	Bid
\perp	b. ROLLED SOD- DELIVERED & INSTALLED			1,000	SF	No	Bid	4	1,000	5F	\$ 0.41	\$ 410.00		1,000	SF	No	Bld		1,000	SF	No	Bid		1,000	SF	No	Bid
4	STAKE/STAPLES (INSTALLED BY VENDOR)																										
	a. STAPLES (COUNTY SUPPLIED)			1	EA	No	Bid		1	EA	\$ 0.06	\$ 0.06		1	EA	No	Bld		1	EA	No	Bid		1	EA	No	Bld
	b. STAPLES (VENDOR SUPPLIED)			10,000	SF	No	Bld		10,000	SF	\$ 0.12	\$ 1,200.00		10,000	SF	No	Bid		10,000	SF	No	Bid		10,000	SF	No	Bid
ecco.						#												,									
SEEDS	& MULCH										Ì																
1	SEEDS (50 POUND BAGS)				1										<u>.</u>			<u>' </u>			1	1					
	a. PENSACOLA BAHIA SEED			400	BAG	No	Bid		400	BAG	No	Bid .		400	BAG	\$ 142.528	\$ 57,011.200		400	BAG	No	Bid	-	400	BAG	No	Bid
	b. RYE GRASS (OCT THRU MARCH)	·*··		340	BAG	No	Bid		340	BAG	No	Bid		340	BAG	\$ 32.183	\$ 10,942.220		340	BAG	No	Bid		340	BAG	No	Béd
	c. BROWN TOP MILLET (APRIL THRU SEPT.)			340	BAG	No	Bid		340	BAG	No	Bid		340	BAG	\$ 32.183	\$ 10,942.220		340	BAG	No	Bid		340	BAG	No	Bid
	d. BERMUDA SEED (HULLED)			500	BAG	No	Bid		500	BAG	No	Bid		500	BAG	\$ 313.793	\$ 156,896.50		500	BAG	No	Bld	ļ	500	BAG	No	Bid
2	MULCH (2.0 cu ft BAGS)																										
	a. CELLULOSE MULCH(FOR HYDRO SEEDING), 60% PAPER, 40% WOOD FIBER (50 LB BALES)			300	BAG	No	Bld		300	BAG	No	Bid		300	BAG	\$ 10.965	\$ 3,289.500		300	BAG	No	Bid		300	BAG	No	Bid
-10(2-14-															****		*										
FERTIL	16-2-16 FERTILIZER, w/ Slow Release Nitrogen (NO					1	1							30000		\$22 516/50			20,000			en.d		20.000	LB	No	L:a
1	SUBSTITUTIONS) 15-0-15 FERTILIZER W/ .67% RONSTAR AND SLOW RELEASE			30,000	ĺ	No	Bid		30,000		No	Båď		(50# bags) 20000	LB	\$29.816/	\$13,509.60		30,000		No	Bid		1			Bid
2	NITROGEN (NO SUBSTITUTIONS)	1		20,000	LB	No	Bid		20,000	LB	No	Bid		(50# bags)	LB	50 lb	\$ 11,926.40		20,000	LB	No	Bid		20,000	LB	No	Bid
HERBI	CIDES/ ALGICIDES						Ti and the same of		T .		0		Rangemaster 2.5/	1		1					1	1					
1	VETERAN 720	2.5 GAL		2	EA	No	Bid		2	EA	No	Bid	gallon container	2	EA	\$ 83.05	\$ 166.10		2	EA	\$ 84.38	\$ 168.76		2	EA	\$ 91.62	\$ 183.24
			Alligare Glyphosate																				1				
2	ISOPROPYLAMINE SALT OF GLYPHOSATE	2.5 GAL	4 plus	24	EA	\$ 36.25	\$ 870,00		24	EA	No	Bld		24	EA	\$ 47.87	\$ 1,148.88	Range Pro	24	EA	\$ 36.25	\$ 870.00	Alecto 41S	24	EA	\$ 40.00	\$ 960.00
		!	Alligare Glyphosate										Isopropylamine Salt of		_			Name Par					Alorto 415			\$ 40.00	ė ganas
3	ROUNDUP PRO	2.5 GAL	4 plus	200	EA	\$ 36.25	\$ 7,250.00		200		No	Bid	Chohosate (2.5 gallon)				\$ 9,574.00		200		i i	\$ 9,376.00		200			
4	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 GAL		15	EA	No	Bld		15	EA	No	Bld		15	EA	\$ 42.833	\$ 642.49!		15	i	1	\$ 691.9!		15		No	Bld
<u> </u>	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 GAL		10	EA	No	Bid		10	EA	No	Bld	للجسي	10	EA	No	Bld		10	EA	\$ 541.50	\$ 5,415.00		10	EA	No	Bid

Process Proc	venue, Suite 120 LA 71107 te firm)						1324		╄				any	Comp	mical C	ena Chei	Hele			- 1		door	FIF O. A.	whether DB4	atlan Coo	antola tanta							Die		- 1			-									
Set France (Controlled Set France Countries) Set France Countries (Controlled Set Fra	LA 71107 te firm)	renue, Suite 12			THESE	'4 North												-		$\overline{}$						-					_				+									-			
Part Control Part	te firm)		Avenue, Su	ame A	ii ii can		1324		1					758	Box 17!	P.O. E				- 1			t	lumet Stree	1740 Ca					cad	ipperer R	2315 Zi	2					reet	4. 8th Stre	13 N				1	B# 14-2696-DS		1
The Control Property and Control Property (Control Property (Con			t, LA 71107						1		FL)	netto Fl	n Palme	ffice t	'58 (Of	3526-17	ity, FL 33	de Cit	Dad	- 1				-							-							6801	lka, AL 36	Opeli					des and other related Aquatic Chemicals	Sod, Fertilize	
1	EXT	e firm)	ate firm)	of stat	(Out o	(0	$\overline{}$		╫					Firm)	County F	Pasco C	(i	- E		+)	County Firm	(Pinellas				Τ	Firm)	e County	Manate	(M		+		- 1	firm)	of state f	{Out		₩		-			\vdash
March Color Cale 1.500 1		M UNIT PRI	U/M UN	U,	PTD G	STIMATED C	ES	TERNATE	E A	DED PRICE	EXTENDED	PRICE	LINST PR	M	U/N	TED QTY	ESTIMAT		ALTERNATE	RICE	EXTENDED PRI	PRICE	UNIT	U/M	ED QTY	ESTIMATI	ALTERNATE	DED PRICE	EXTER	UNIT PRICE	U/M	D QTY	ESTIMATED	ALTERNATE	Œ	EXTENDED PRIČ	PRICE	UNIT	U/M	IMATED QTY	NATE E	ALTERI	CONTAINER SIZE	CON	RODUCT NAME	EM DESCR	ITE
NOTE OF ANY ACTION 1-100									ľ			Ì										i							l	-														1			
Part	EA \$ 51.70 \$	\$ 51.	EA \$	+-	10		-			450.00	\$ 45	45.00	\$ 45	Α	EA	10	<u> </u>	-	Roden	5.70	\$ 656.	65.67	\$	EA	10			Bld	┢	No	EA	10			00	430.0	43.00	\$	EA	10			2.5 GAL	+	CLEAR	a. RODI	5
Second Control Contr	EA \$ 603.60 \$ 42	\$ 603.	EA \$	#	70		-		_	,485.00	\$ 37,48	35.50	\$ 535	A	EA	70			Ander	2.20	\$ 44,552.	636.46	\$ 6	EA	70			Bld	ļ	No	EA	70				Bid	No	N	EA	70		_	30 GAL		CLEAR (RETURNABLE CONTAINER)	b. ROD	L
Substitution Subs		ļ	ļ		ļ				15			ľ						2				Ė						- 1	l						н												
SAME OF CONTINUES Column					ļ		ш													- 1		H			ea re			- 1	l						п												
Town (A-C) (NO BURNETTUTIONES) 1 (AL) 2 (A) 3	EA No I	A No	EA	, ,	30		4.			,584.00	\$ 34,58	52.80	\$ 1,152	A	EA	30				1	\$1,397.31	46,577	\$ 4					Bld		No	EA	30				Bid	No	N	EΑ	30			40 LB		BS(TUTITIONS)	SONAR	6
SOUND ASSESSMENT 1 (A) 1 (A) 2 (A) 3 (A) 3 (A) 3 (A) 4 (A) 3												i								п						5							-											\top			Г
E SERIE SERIE DE SERIE S	GL No I	L No	GL	<u>, </u>	5					,511.80	\$ 9,51	02.36	\$ 1,902	1	GL	5				15	\$4,052.385	10.477	\$ 81					Bld		No	GL	5			Ш	Bid	No	l N	GL.	5			1 GAL		SUBSTITUTIONS)	SONAR	,
## SHICORYS TURY BIDD BURSTITUTIONIS) \$1.50 ## \$5. No. Bid ## \$5	GL \$ 40.58 \$ 6	L \$ 40.	GL \$	Γ.	150	. 1		e Manuel :		,870.00	\$ 9,87	65.80	\$ 65		GL	150			Kineme -	200	\$ 11,998,2	79.988	\$ 7	GL	150			Bld		No	GL	150				5 730 0	38 70	4	- GI	150				\top	· · · · · · · · · · · · · · · · · · ·		
10 MC AMNED 25 GAL 20 EA No Bd 20 EA No Bd 25 GAL 2							N.			·																								N.	1	0,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	SULLY	ľ		130			108	╈	<u> </u>	SILKEN,	8
9 SKON PER LONG CONTROL OF THE PROPERTY LONG												ł								н		ļ			į			- 1							н			1				100				1	
10 MIC AMMIC D 25 GAL	EA NO I	A No	EA	, ,	4					,338.00	\$ 1,33	34.50	\$ 334	A.	EA	4				288	\$ 1,604.2	01.072	\$ 40	EA	4			Bid		No	EA	4	Į.,		100	Bld	No	N	EA	4			5 LB		(NO SUBSTITUTIONS)	SENCO	
Alligner 1700/00/07 4 (GENERICS ALLOWID) 2.5 GAL A \$ 116.18 \$ 1,354.16 3 12 EA NO. Bid 12 EA \$ 2,27.05 \$ 2,604.60 [Generit 4 12 EA \$ 333.50 \$ 1,500.00 [Generit 4 12 EA \$ 333.50 \$ 1,500.00 [Generit 4 12 EA \$ 3,350.00 [Generit 4	EA NO I	A No	EA	, ,	20				Ī	,775.00	\$ 1,77	88.75	\$ 88	4	EA	20		Ī	Endrun	1.60	\$ 904.	45.23	s	EA	20			Bld	П	No	EA	20	-			Bid	No	I	FA	70							
11 OARON 4 (SENERIS ALLOWED) 2.5 GAL 46C 2.2 EA \$ 15.15.18 \$ 1,284.15 1.2 EA NO BIG 1.2 EA NO BIG 1.2 EA \$ 2,27.05 \$ 2,604.60 Element 4 12 EA \$ 3,125.0 \$ 5,506.00 Element 4 12 Alligare Tridegye 1.2 GAL NO BIG 1.2 GAL NO BIG 1.3 FA, 1.5 F																																									gare	Allig	2.3 071	1-		MECAI	F
2 8. GARLON 3A (GENERICS ALLOWED) 25 GAL S 51.6 8 \$ 51.08 \$ 36,432.00 4.00 EA No Bid 4.00 EA S 192,444 \$ 76,577.500 Element 3A 4.00 EA S 116.8 \$ 46,732.00 Element 3A 4.00 EA EA S 116.8 \$ 46,732.00 Element 3A 4.00 EA EA S 116.8 \$ 46,732.00 Element 3A 4.00 EA EA ELEMENT E	EA \$ 133.80 \$ 1	\$ 133.	EA \$		12			ement 4		,590.00	\$ 1,59	32.50	\$ 132	Ą	ΕA	12			Element 4	.60	\$ 2,604.	217.05	\$ 2	EA	12			Bid		No	EA	12			16	1,394.1	116.18	\$ 1	EA	12			2.5 GAL		RICS ALLOWED)	GARLO	11
2 a. GARLON 3A (GENERICS ALLOWED) 2. 5 GAL 3. 1. 400 EA \$ 9.08 S 96,482.00 400 EA No Bid 400 EA \$ 192,444 \$ 76,977,600 Element 3A 400 EA \$ 116,88 \$ 46,732.00 Element 3A 400 EA \$ 116,88 \$ 46,732.00 Element 3A 400 EA \$ 116,88 \$ 46,732.00 Element 3A 400 EA \$ 13,955.00 \$ 27,800.00 Element 3A 400 EA \$ 13,955.00 \$ 27,800.00 Element 3A 400 EA \$ 13,955.00 Element 3A 400 EA EA \$ 13,955.00 Element 3A 400 EA EA E 13,955.00 E	Section 1				ŀ							į								-		1																									Г
B. GARLON 3A (GENERICS ALLOWED) 30 GAL Tridopyr 13 PLATEAU (NO BUBSTITUTIONS) 25 GAL 50 EA No Bid 50 EA S 354.63 \$ 17.731.50 \$ 7.939.00 50 EA \$ 749.33 \$ 37.465.50 \$ 50 FUNGICIDES	EA \$ 110.30 \$ 44	\$ 110.	EA \$		400	4	4	ement 3A	EI	,752.00	\$ 46,75	16.88	\$ 116	۸	EΑ	400		A	Element 3 A	600	\$ 76,977.6	92.444	\$ 19	EA	400			Bid	ļ	No	EA	400			00	36,432.0	91.08	5	EA	400			2.5 GAL	\perp	ENERICS ALLOWED)	a. GARI	12
b. GARLON 9A (GENERICS ALLOWED) 30 GAL 3.4 20 EA \$ 1,085.00 \$ 27,900.00 Element 3A 20 EA \$ 1,085.00 \$ 27,900.00 Element 3A 20 EA \$ 1,085.00 \$ 27,000.00 Element 3A 20 EA \$ 1,085.00 \$ 1,000.00 Element 3A 20 EA \$ 1,085.00					j							Ì		l								İ	ŀ														ŀ										
13 PLATEAU (NO SUBSTITUTIONS) 2.5 GAL 50 EA No Bid 50 EA S 858.333 \$ 42,916.650 50 EA \$ 749.33 \$ 37,466.50 50 EA \$ 749.33 \$ 37,466.50 50 EA \$ 156.00 \$ 1,560.00 Arsenal 10 EA \$ 156.130 Arsenal Herbiddle 10 50 EA S 156.00 \$ 1,560.00 Arsenal 10 EA \$ 156.130 Arsenal Herbiddle 10 50 EA S 156.00 \$ 1,560.00 Arsenal 10 EA \$ 156.130 Arsenal Herbiddle 10 50 EA S 156.00 \$ 1,560.00 Arsenal 10 EA S 156.130 Arsenal Herbiddle 10	EA \$ 1,323.60 \$ 26	\$ 1,323.	EA \$	- E	20			ement 3A	E	,900.00	\$ 27,90	95.00	\$ 1,395	-	EA	20			Flement 3.4	0.00	\$ 51,220.	561.00	\$ 2,5	EA	20	-		Bid	-	No	EA	20	ŀ		00	21,636.0	081.80	\$ 1,0	EA	20	*	-	30 GAL	+	NERICS ALLOWED)	b. GAR	\vdash
13 PLATEAU (NO SUBSTITUTIONS) 2.5 GAL 5.0 EA No Bid 5.0 EA \$ 156.00 \$ 1,560.00 Arsenal 10 EA \$ 156.13 \$ 1,561.30 Arsenal Herbiddle 10 5.0 EA \$ 156.13 \$ 1,561.30 Arsenal Herbiddle 10 5.0 EA \$ 1,169.80				1							1	,				1				н								- 1		i i		ĺ	1		ш											- 1	
13 PLATEAU (NO SUBSTITUTIONS) 2.5 GAL 5.0 EA No Bild 5.0 EA S 354.63 \$ 17,731.50 5.0 EA \$ 354.63 \$ 17,731.50 5.0 EA \$ 37,466.50 5.0 EA \$ 749.33 \$ 37,466.50 5.0 EA \$ 749.33 \$ 37,466.50 5.0 EA \$ 749.33 \$ 37,466.50 5.0 EA S 156.00 \$ 1,560.00 Arsenal Herbidde 1.0 EA S 156.13 \$ 1,561.30 Arsenal Herbidde 1.0 EA S 156.13 Arsenal Herbidde 1					15 Gal	omes in 5					!	1		i		ĺ				н		and the second			ffer 1	only of		- 1				1			п		i			Ì							
ISOPROPYLAMINE SALT of IMAZAPYR 28.1% A.L (active Ingredient) 15 (GENERICS ALLOWED) Alligare Ecomazapyr 2.5 GAL Alligare ECOMAZAPYR 28.1% A.L (active Ingredient) 2.5 GAL (Only offer 5 LB (Only offer 5 LB) (Only offer 5 LB)	EA \$ 593.00 5 14	\$ 593.	EA \$,731.50	\$ 17,73	54.63	\$ 354	Α	EA	50				3.00	\$ 7,939.	150.78	\$ 1	EA				Bid		No	EA	50				Bld	No		EA	50			2.5 GAL		BSTITUTIONS)	PLATEA	13
ISOPROPYLAMINE SALT of IMAZAPYR 28.1% A.I. (active ingredient) 2.5 GAL 25L 10 EA \$ 116.98 \$ 1,169.80 10 EA No Bid 2.5 GAL 25L 10 EA \$ 156.00 \$ 1,560.00 Arsenal 10 EA \$ 156.13 \$ 1,561.30 Arsenal Herbicide 10 EA S 10.00 EA S 10.0	EA \$ 772.50 \$ 38	\$ 772.	EA \$, ,	50					,466.50	\$ 37,46	49.33	\$ 749	4	EA	50				650	\$ 42,916.6	58.333	\$ 85	EA	50			Bild		No	EA	50				Bid	No		EA	50			2.5 GAL		SUBSTITUTIONS)	MILEST	14
ISOPROPYLAMINE SALT of IMAZAPYR 28.1% A.L. (active ingredient) 2.5 GAL 2.5 L. 10 EA \$ 116.98 \$ 1,169.80 10 EA No Bid 2.5 Gallon container) 10 EA \$ 156.00 \$ 1,560.00 Arsenal 10 EA \$ 156.13 \$ 1,561.30 Arsenal Herbicide 10 EUNGICIDES 10 EA S 156.13 S 1,561.30 Arsenal Herbicide 10 EA S 156.13 Arsenal Herbicide 10 EA S 15									Ī									İ											Π						-			1			zare	Allia			<u> </u>		
FUNGICIDES (Only offer 5 LB)	EA \$ 138.55 \$ 1	\$ 138.	EA \$, ,	10		de	al Herbicid	Arsei	,561,30	\$ 1,56	56.13	\$ 156		EA	10			Arsenal	0.00	\$ 1,560.	156.00	\$ 1	EA	10		Nufarm Polaris 2 2.5 Gallon container	Bid		No	EA	10			80	\$ 1,169.8	116.98	\$ 1	EA	10	ахаруг	Ecoma	2.5 GAL				15
(Only offer 5 LB									Ì																																						CHIN
4 ALIETTE WDG (GENERIC'S ALI OWFD) 5.5 LB 5 EA No Bid 5 EA No Bid container) 5 EA \$ 77.43 \$ 387.15 Alliette WDG 5 EA \$ 133.65 \$ 668.25 5	EA NO I	No.	EA		5					668 25	\$ 66	23 65	¢ 122		EA	_		<u>.</u>	Alliette WD6	7.46	ć 307	77.42	ė	EA	_		(Only offer 5 LB container)	DI-								nr.l				_		1					r on
ALIETTE WOG (GENERICS ALLOWED) 5.5 LB 5											1	33.00	V 100								3	77.10	<u> </u>			,,		BIG .	1	NO	EA	- 3	L			540	NO (EA	51			5.5 LB		NERICS ALLOWED)		1
INSECTICIDES Acephate 90				T					1							J								···		1			t			T	1							1						SECTICIDES	INSE
1 ORTHENE 1 B 10 DA NO BU Acephate 90			EA		10					89.00	\$ 8	8.90	\$ 8	-	EA	10					\$ 100.	10.00	\$	EA	10		Acephate 90	Bld	-	No	EA	10			-	Bid	No	N	EA	10		<u> </u>	118	-		ORTHE	1_
1 ORTHENE 10 LB 10 EA No Bid 10 EA No Bid 10 EA No Bid 110 EA \$ 71.63 \$ 71.63 \$ 71.63 \$ 71.63 \$ 71.63 \$ 71.63 \$ 71.63 \$ 81.00 \$ 810.00 \$ 10 EA	EA NO I	A No	EA	- F	10					810.00	\$ 81	81.00	\$ 81	4	EA	10		UP f	Acenhate 97 I	5.30	\$ 716.	71.63	\$	EA	10		(10 LB container)	Bid	╁	No	EA	10	ļ		-	Bid	No	N	EA	10			10 LB			ORTHE	┡
2 a. AMDRO 1LB (NO SUBSTITUTIONS) 1 LB 10 LB No Bid 10 LB	LB No I	No_	LB	#	10		1			Bid	Bid		No	3	LB	10	-			5.10	\$ 106.	10.61	\$	LB	10	-		Bld	 	No	LB	10				Bid	No	N	LB	10		,	1LB	_	O SUBSTITUTIONS)	a. AMD	2
b. AMDRO 25LB (NO SUBSTITUTIONS) 25 LB 20 EA No Bid 20 EA No Bid 20 EA \$ 275.78 \$ 5,515.61 20 EA \$ 218.75 \$ 4,975.00 20	EA No I	No No	EA	F	20	· <u>-</u>	+-			,375.00	\$ 4,37	18.75	\$ 218	\	EA	20				.60	\$ 5,515.	275.78	\$ 2	EA	20		Different - 70	Bld	ļ	No	EA	20				Bld	No	N	EA	20	g-4		25 LB	\bot	NO SUBSTITUTIONS)	b. AMI	
	SL \$ 33.30 \$ 1	L \$ 33.	GL \$	1.	40			Slfin I/T		,114.00	\$ 1,11	27.85	\$ 27		GL	40			Bifin I/T	08.1	\$ 1,314.	32.87	\$	GL	40			Bid		No	GL	40				Bld	No	, N	GL	40			1 GAL	ļ.,		TALSTA	3
ADJUVANTS & ADDITIVES				-			- 11							,									н										_											1	VES	JUVANTS 8	ADJ
Foambuster required as			i											,	OT																				-												
	QT \$ 8.28 \$	т \$ 8.	QT \$	1	120	1	-			762.00	\$76	6.35	\$ 6								\$ 690.	5.75	\$	QT	120			Bid	<u> </u>	No	QT	120	:	_	40	\$ 542.4	4.52	\$	QT	120			1 Quart	上		DEFOA	1_
2 LOVELAND X-77 SPREADER 1 GAL SUU GL NO BU 360 CE NB	SL \$ 40.58 \$ 20	\$ 40.	GL \$	4-	500	5		te Mercel	e	,650.00	\$ 6,65	13.30	\$ 13		GL	500			Inlet	5.00	\$ 9,035.	18.07	\$	GL	500			Bid		No	GL	500				Bid	No		GL	500			1 GAL				2_
PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (ND SUBSTITUTIONS) 1 Quant 2,000 QT No Bid 2,000 QT No Bid 2,000 QT No Bid 2,000 QT S 10.60 \$ 21,200.00 2,000 QT No Bid 2,000 QT NO Bid	QT No I	T No	QT	(2,000	2,0				,200.00	\$ 21,20	10.60	\$ 10	т	οт	2,000					Bld	lo	No	QT	2,000			Bid		No	QT	2,000	2,			Bid _	No		QT	2,000		H.F	1 Quart		ACY, WINDBRAKE, AIRTIGHT (NO B)	PROM/	3

			Alligare LLC	;			Dieter's	Sod Service	e, Inc.		Fle	orida Irrigation :	Supply Inc. DBA	FIS Outdoor			Helena Che	emical Comp	any			Red River	Specialties	, Inc.	
		13	N. 8th Stre	et			2315	Zipperer R	oad			1740	Calumet Street				P.O.	Box 1758				1324 North Hear	me Avenue	, Suite 120	
		Орг	alika, AL 36	801			Brade	nton, FL 34	1212			Clear	water, FL 33765			Dade C	ity, FL 33526-17	758 (Office	in Palmetto	FL)					
		(Du	t of state fi	irm)			(Manat	ee County	Firm)			(Pinel	las County Firm)	l .			(Pasco (County Firm)			(Out c	if state firm	1)	
CONTAINER SIZE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	и/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	и/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTEMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED CITY	U/M	UNIT PRICE	EXTENDED PRICE
1 GAL	Alligare Trace 2 1/2lb container	8	GA	\$ 12.65	\$ 101.20		8	GA_	No	8id	Cide Kick (1 Gallon container)	8	GA	\$ 19.733	\$ 157,864	Cide Kick (offered in 2.5 gallon container)	8	GA (2.5 gal container)	\$ 39.38	\$ 315.04	CideKick	8	GA	\$ 21.17	\$ 169.36
1 GAL	Alligare Super Marker Dye	8	GA	\$ 28.45	\$ 227.60		8	GA	No	Bid		. 8	GA	\$ 33.80	\$ 270.40	Spec Spray Indicator	8	GA	\$ 16.65				GA	\$ 21.14	\$ 169.12
					Yes					Yes					Yes Yes					Yes					Yes
	1 GAL	Alligare Trace 2 1/2lb 1 GAL container Alligare Super	Ope (Out ONTAINER SIZE ALTERNATE ESTIMATED QTY Alligare Trace 2.1/2/b 1 GAL container 8 Alligare Super	13 N. 8th Stre Opelika, AL 36 (Out of state fi ONTAINER SIZE ALTERNATE ESTIMATED QTY U/M Alligare Trace 2.1/2/ib 1 GAL Container 8 GA Alligare Super	Alligare Trace 2 1/2lb GAL container 8 GA \$ 12.65	13 N. 8th Street	13 N. 8th Street Opelika, Al. 36801 (Out of state firm) ONTAINER SIZE ALTERNATE ESTIMATED QTY U/M UNIT PRICE EXTENDED PRICE ALTERNATE Alligare Trace 2 1/2lb Container 8 GA \$ 12.65 \$ 101.20 Container 8 GA \$ 28.45 \$ 227.60 Container C	13 N. 8th Street Opelika, Al. 36801 (Out of state firm) ONTAINER SIZE ALTERNATE ESTIMATED QTY U/M UNIT PRICE EXTENDED PRICE ALTERNATE ESTIMATED QTY Allgare Trace 2.1/2lb container 8 GA \$ 12.65 \$ 101.20 8 Allgare Super Marker Dye 8 GA \$ 28.45 \$ 227.60 8	13 N. 8th Street Opelika, AL 36801 Bradenton, FL 34 (Out of state firm) (Manatee County ONTAINER SIZE ALTERNATE ESTIMATED QTY U/M UNIT PRICE ESTIMATED QTY U/M Alligare Trace 2 1/2lb container 8 GA \$ 12.65 \$ 101.20 8 GA Alligare Super Marker Dye 8 GA \$ 28.45 \$ 227.60 8 GA	13 N. 8th Street	13 N. 8th Street	13 N. 8th Street	13 N. 8th Street Opelika, AL 36801 Opelika, AL 36801 (Out of state firm) (Manatee County Firm) (Pinel DINTAINER SIZE ALTERNATE ESTIMATED QTV U/M UNIT PRICE EXTENDED PRICE ALTERNATE ESTIMATED QTV U/M UNIT PRICE EXTENDED PRICE ALTERNATE ESTIMATED QTV Alligare Trace 2 1/2/2lb Container 8 GA \$ 12.65 \$ 101.20 8 GA No Bid Cide Kick (1 Gallon container) 8 Alligare Super Marker Dye 8 GA \$ 28.45 \$ 227.60 8 GA No Bid 8 6	13 N. 8th Street Opelika, AL 36801 (Out of state firm) (Manatee County Firm) (Manatee County Firm) ONTAINER SIZE ALTERNATE Alligare Trace 2 1/21/2b S GA S 12.65 1 01.20 8 GA No Bid 1740 Calumet Street 17	13 N. 8th Street Opelika, Al. 36801 (Out of state firm) (Manatee County Firm) (Manatee County Firm) ONTAINER SIZE Alternate Alligare Trace 2.1/2/D Container 8 GA \$ 12.65 \$ 101.20 8 GA \$ 28.45 \$ 227.60 8 GA No Bid Alligare Super Marker Dye 8 GA \$ 28.45 \$ 227.60 8 GA No Bid 1740 Calumet Street 1740 Calumet St	13 N. 8th Street 2315 Zipperer Road 1740 Calumet Street 17	13 N. 8th Street	13 N. 8th Street 2315 Zipperer Road 1740 Calumet Street P.O.	13 N. 8th Street	13 N. 8th Street	13 N. 8th Street P.O. Box 1758 Opelika, AL 36801 Bradenton, FL 34212 Clearwater, FL 33765 Dade City, FL 33526-1758 (Office in Palmetto FL)	13 N. 8th Street 13 N. 8th Street 13 N. 8th Street 14 N. 8th S	13 N. 8th Street 13 N. 8th S	13 N. 8th Street	13 N. 8th Street 13 N. 8

	TABULATION			Southern Agric	ultural inse	cticides Inc.			Sunbelt Sod	& Grading	Co., Inc.			Univar U	rsa				Winfield S	olutions, LL	c	
Sod	IFB# 14-2696-D5 , Fertilizer, Herbicides and other related Aquatic Chemicals			Palme	D. Box 218 etto, FL 342 se County I	20			Rusk	th Street N in, FL 3357 se County F	0			1 Corporex Park Tampa FL 3 (Hillsborough Co	33619				4094 Paul E Plant Cit (Hillsboroug	y FL 33565		
ITEM	DESCRIPTION/ PRODUCT NAME	CONTAINER SIZE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PAICE	ALTERNATE	ESTIMATED QTY	и/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	LINIT PRICE	EXTENDED PI
BODS	DESCRIPTIONY PRODUCT NAME															1						
	BAHIA SOD													ļ								
A	1-4 PALLETS (400 SF - 1,999 SF)								1													
	a. DELIVERED AND SPOT PLACED			6,000	SF	No	Bid		6,000	5F	\$ 0,30	\$ 1,800.00		6,000	SF	No	Bid		6,000	SF	No	Bid
	b. COUNTY PICK UP			800	SF	No	Bid		800	5F	No	Bid		800	SF	No	Bid		800	SF	No	Bid
	c. DELIVERED & INSTALLED (Pallet Sod)			4,000	SF	No	Bid		4,000	SF	\$ 0.35	\$ 1,400.00		4,000	SF	No	Bid		4,000	SF	No	Bid
В	5-9 PALLETS (2,000 SF - 3,999 SF)																					
	a. DELIVERED AND SPOT PLACED			5,600	5F	No	Bld		5,600	ŞF	\$ 0.25	\$ 1,400.00		5,600	SF	No	Bid		5,600	5F	No	Bld
	b. DELIVERED & INSTALLED (Pailet Sod)			7,600	SF	No	Bld		7,600	SF	\$ 0.30	\$ 2,280.00		7,600	SF	No	Bild		7,600	SF	No	Bid
	c. SLOPE DELIVERY & INSTALLATION (Pallet Sod)			1,800	SF	No	Bid		1,800	SF	\$ 0.33	\$ 594.00		1,800	5F	No	Bid		1,800	SF	No	Bld
с	10-24 PALLETS (4,000 SF - 9,999 5F)																					
	a. DELIVERED AND SPOT PLACED			4,000	SF	No	Bid		4,000	SF	\$ 0.18	\$ 720.00		4,000	SF	No	Bid		4,000	SF	No	Bid
	b. DELIVERED & INSTALLED (Pallet Sod)			8,000	SF	No	Bid		8,000	SF_	\$ 0,20	\$ 1,600.00		8,000	SF	No	Bid		8,000	SF	No	Bid
	c. SLOPE DELIVERY & INSTALLATION (Pallet Sod)			12,500	SF	No	Bid		12,500	SF	\$ 0.23	\$ 2,875.00		12,500	SF	No	Bld		12,500	SF	No	Bid
D	25 PALLETS OR MORE (10,000 SF OR MORE)																					
	a. DELIVERED & INSTALLED (Pallet Sod)			225,000	5F	No	Bid		225,000	SF	\$ 0.19	\$ 42,750.00		225,000	5F	No	Bld		225,000	SF	No	Bid
	b. SLOPE DELIVERY & INSTALLATION (Pallet Sod)			400,000	SF	No	Bid		400,000	SF	\$ 0.195	5 78,000.00		400,000	5F	No	Bid		400,000	SF	No	Bid
2	ST. AUGUSTINE- FLORATAM		=																			
A	1-4 PALLETS (400 SF - 1,999 SF)																					
	a. DELIVERED AND SPOT PLACED			7,600	SF	No	Bld		7,600	SF	\$ 0.40	\$ 3,040.00		7,600	SF	No	Bld		7,600	SF	No	Bid
	b. COUNTY PICK UP			800	SF	No	Bld		800	SF	No	Bid		800	SF	No	Bld		800	SF	No	Bid
	c. DELIVERED & INSTALLED (Pallet Sod)			3,200	SF	No	Bid		3,200	SF	\$ 0.45	\$ 1,440.00		3,200	SF	No	Bid		3,200	SF	No	Bid
	d. SLOPE DELIVERY & INSTALLATION (Pallet Sod)			250	SF	No	Bid		250	SF	\$ 0.45	\$ 112.50		250	SF	No	Bid		250	SF	No	Bād
В	5-9 PALLETS (2,000 SF - 3,999 SF)																					
	a. DELIVERED AND SPOT PLACED			2,500	SF	No	Bid		2,500	SF	\$ 0.35	\$ 875.00		2,500	SF	No	Bld		2,500	SF	No	Bld
	b. DELIVERED & INSTALLED (Pallet Sod)			4,800	SF	No	Bld		4,800	SF	\$ 0.40	\$ 1,920.00		4,800	SF	No	Bld		4,800	SF	No	Bid
3	419 BERMUDA SOD																					
A	1-4 PALLETS (400 SF - 1,999 SF)																					
	a. DELIVERED AND SPOT PLACED			500	SF	No	Bid		500	SF	\$ 0.32	\$ 160.00		500	SF	No	Bld		500	SF	No	Bld
	b. COUNTY PICK UP			800	SF	No	Bld		800	SF	No	Bid		800	SF	No	Bld		800	SF	No	Bid
	c. DELIVERED & INSTALLED (Pallet Sod)			1,600	SF	No	Bid		1,600	SF	\$ 0.37	\$ 592.00		1,600	SF	No	Bid		1,600	5F	No	Bld

	TABULATION		Ĺ .	Equithern Assis	ultueni inc	artiridae Inc			Sunbeit Sod	& Gradine	Co., Inc			Univar U	ISA				Winfield S	olutions, LI	.c	
	IFB# 14-2696-DS		<u></u>	Southern Agrica P.C	D. Box 218					h Street N	•		3801	Corporex Park		280			4094 Paul E	-		-
1														T D 4	2540				Plant Ch			
Sod,	Fertilizer, Herbicides and other related Aquatic Chemicals				etto, FL 347 ee County					n, FL 3357 e County F				Tampa FL 3 Hillsborough Co		1			(Hillsboroug	ly FL 33565 h County Fl		
							Ì													!		C. (50.10.10.10.10.10.10.10.10.10.10.10.10.10
ПЕМ	DESCRIPTION/ PRODUCT NAME	CONTAINER SIZE	ALTERNATE	ESTIMATED CITY	и/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE
	d. ROLLED SOD- DELIVERED & INSTALLED			200	SF	No	Bld		200	SF	\$ 0.45	\$ 90.00		200	SF	No	Bid		200	SF	No	Bld
В	5-9 PALLETS (2,000 SF - 3,999 SF)																					
	a. DELIVERED & INSTALLED (Pallet Sod)			8,000	5F	No	Bid		8,000	SF	\$ 0.40	\$ _3,200.00		8,000	SF	No	Bid		8,000	SF	No	Bid
	b. ROLLED SOD- DELIVERED & INSTALLED			4,000	SF	No	Bid		4,000	SF	\$ 0.40	\$ 1,600.00		4,000	SF	No	Bld		4,000	SF	No	Bid
С	10-24 PALLETS (4,000 SF - 9,999 SF)											إحلب										
	a. DELIVERED & INSTALLED (Pallet Sod)			12,000	SF	No	Båd		12,000	SF	\$ 0.38	\$ 4,560.00		12,000	SF	No	Bld		12,000	SF	No	Bid
	b, ROLLED SOD- DELIVERED & INSTALLED			4,000	SF	No	Bid		4,000	SF	\$ 0.38	\$ 1,520.00		4,000	SF	No	Bld		4,000	SF	No	Bid
				1																		
D	25 PALLETS OR MORE (10,000 SF OR MORE)										-											
1	a, DELIVERED & INSTALLED (Pallet Sod)			38,000	SF	No	Bld		38,000	SF	\$ 0.35	\$ 13,300.00		38,000	SF	No	Bid		38,000	SF	No	Bid
<u> </u>	b. ROLLED SOD- DELIVERED & INSTALLED			1,000	SF	No	Bld		1,000	SF	\$ 0.35	\$ 350.00		1,000	SF	No	Bid		1,000	SF	No	Bid
4	STAKE/STAPLES (INSTALLED BY VENDOR)																					
1	a. STAPLES (COUNTY SUPPLIED)			1	EA	No	Bid		1	EA	\$ 0.02	\$ 0.02		1	EA	No	Bld		1	EA	No	Běd
	b. STAPLES (VENDOR SUPPLIED)			10,000	SF	No	Bid		10,000	SF	\$ 0.05	\$ 500.00		10,000	SF	No	Bld		10,000	SF	No	Bld
SEEDS	& MULCH										,									,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
1	SEEDS (50 POUND BAGS)																					
	a. PENSACOLA BAHIA SEED			400	BAG	\$ 135.00	\$ 54,000.00		400	BAG	No	Bid		400	BAG	No	Biď		400	BAG	No	Bid
1	b. RYE GRASS (OCT THRU MARCH)			340 (annual)	BAG	\$ 24.79	\$ 8,408.20		340	BAG	No	Bid		340	BAG	No	Bld		340	BAG	No	Bld
				340	BAG		\$ 11,560.00		340	BAG	No	Bid		340	BAG	No	Bid		340	BAG	No	Bld
	c. BROWN TOP MILLET (APRIL THRU SEPT.)			500			\$ 139,000.00		500		No	Bid		500	BAG	No	Bid		500	BAG	No	Bld
\vdash	d. BERMUDA SEED (HULLED)			300	DAG	3 278.00	3 139,000.00		300	LING		Die										
2	MULCH (2.0 cu ft BAGS) a. CELLULOSE MULCH(FOR HYDRO SEEDING), 60% PAPER, 40%				<u>.</u>																	Bid
	WOOD FIBER (50 LB BALES)			300	BAG	No	Bld		300	BAG	No	Bld		300	BAG	No	Bid		300	BAG	No	BIG
FERTIL	ZERS	,		1	i .		1		1							T	1					
1	16-2-16 FERTILIZER, w/ Slow Release Nitrogen (NO SUBSTITUTIONS)			30,000	ЦВ	No	Blid		30,000	LB	No	Bid		30,000	LB	No	Båd		30,000	LB	No	Bld
2	15-0-15 FERTILIZER W/.67% RONSTAR AND SLOW RELEASE NITROGEN (NO SUBSTITUTIONS)			20,000	LB	No	Bid		20,000	LB	No	Bid		20,000	LB	No	Bid		20,000	LB	No	Bid
HERBK	CIDES/ ALGICIDES																					
1	VETERAN 720	2.5 GAL	Rangestar	2	EA	\$ 78.00	\$ 156.00	: 	2	EA	No	Bid		2	EA	No	Bid		2	EA	No	Bid
2	ISOPROPYLAMINE SALT OF GLYPHOSATE	2.5 GAL	Range Pro	24	EA	\$ 45.50	\$ 1,092.00	<u> </u>	24	EA	No	Bid	Martins Eraser # 803281	24	EA	\$ 49.06	\$ 1,177.44		24	EA		<u> </u>
			Roundup Pro								!		Max # 780671 (offering 1.67 gal) pricing					B				
3	ROUNDUP PRO	Z.5 GAL	Concentrate	200	EA	\$ 52.25	\$ 10,450.00		200		No	Bid	reflects size	200			\$ 15,542.00	Ranger Pro	200			\$ 7,840.01
4	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 GAL		15	EA	No	Bid		15	EA	No	Bld		15	EA	No	Bid		15			\$ 548.25
	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 GAL	السينيا	10	EA	No	Bid		10	EA	No	Bid		10	EA	No	Bid	6	10	EA	\$ 428.40	\$ 4,284.00

		_					1			-		-										
	TABULATION			Southern Agric					Sunbelt Sod					Univar U		000				olutions, LLC		
	IFB# 14-2696-DS			Р.	O. Box 218	1		i	819 9	th Street N	E		380	l Corporex Park	Orive, Ste	280			4094 Paul B	uchman Hw	ry .	
Sod,	Fertilizer, Herbicides and other related Aquatic Chemicals			Palm	etto, FL 34	220			Rusk	dn, FL 3357)			Tampa FL 3						y FL 33565		
				(Manat	tee County	Firm)	H I		(Manati	ee County F	irm)	1	(Hillsborough Co	unty Firm	i			(Hillsborough	County Fin	m)	
ПЕМ	DESCRIPTION/ PRODUCT NAME	CONTAINER SIZE	ALTERNATE	ESTIMATED QTY	и/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE
													Rodeo Herb # 425070	10	EA	\$70.70	\$707.00					
5	a. RODEO, AQUA CLEAR	2.5 GAL	Roundup Custom	10	EA	\$ 52.25	\$ 522.50		10	EA	No	Bld	Aquaneat # 753659	10	EA	\$73.83	\$738.30		10	EA	\$ 50.50	\$ 505.00
	b. RODEO, AQUA CLEAR (RETURNABLE CONTAINER)	30 GAL	Roundup Ourtors	70	EA	\$ 600.00	\$ 42,000.00		70	EA	No	Bld		70	EA	No	Bid		70	EA	\$ 574.50	\$ 40,215.00
	SONAR Q (NO SUBSITUTITIONS)	40 LB		30	EA	No.	Bid		30	EA	No	Bld		30	EA	No	Bid		30	EA	\$ 1,176.00	\$ 35,280.00
	SORAR Q (NO SOBSTITUTIONS)	40 15		- 30					-										J			
									Ι.					١.			Bid				÷ 4 040 44	
7	SONAR (A.S) (NO SUBSTITUTIONS)	1 GAL		5	GL	No	Bid		. 5	GL	No	Bld		5	GL	No						\$ 9,702.05
8	SILKEN, KINETIC	1 Gal	Captil	150	GL	\$ 81.38	\$ 12,207.00		150	GL	No	Bid		150	GL	No	Bid	Siner.	150	GL	\$ 35.00	\$ 5,250.00
1																						1
																						1
9	SENCOR 75 TURF (NO SUBSTITUTIONS)	5 LB	,	4	EA	\$ 364.65	\$ 1,458.60		4	EA	No	Bid		4	EA	\$ 373.00	\$ 1,492.00		4	EA	\$ 373.40	\$ 1,493.60
10	MEC AMINE-D	2.5 GAL		20	EA	\$ 68.75	\$ 1,375.00		20	EA	No	Bid		20	EA	No	Bld	5trike 3	20	EA	\$ 54.13	\$ 1,082.60
														į						ŀ		1
11	GARLON 4 (GENERICS ALLOWED)	2.5 GAL	Element 4	12	EA	\$ 195.25	\$ 2,343.00		12	EA	No	Bid	Ultra # 787593	12	EA	\$ 209.15	\$ 2,509.80	Element 4	12	EA	\$ 148.475	\$ 1,781.70
											!											1
12	2. GARLON 3A (GENERICS ALLOWED)	2.5 GAL	Element	400	EA	\$ 140.65	\$ 56,260.00		400	EA	No	Bid		400	EA	No	Bld	Element 3A	400	EA	\$ 133.475	\$ 53,390.00
											1		İ									ľ
<u> </u>	b. GARLON 3A (GENERICS ALLOWED)	30 GAL	Element	20	EA	\$ 1,687.80	\$ 33,756.00		20	EA	No	Bld		20	EA	No	Bid	Element 3A	20	EA	\$ 1,601.70	\$ 32,034.00
	1				i							!										Ė
							i i				;									ŀ		1
				l						-	No	m:-1		50	EA	No	Bid		50	EA	No	Bid
13	PLATEAU (NO SUBSTITUTIONS)	2.5 GAL		50	EA_	No	Bid		50			Bid							l -			
14	MILESTONE (NO SUBSTITUTIONS)	2.5 GAL		50	EA	No	Bid		50	EA	No	Bid		50	EA	No	Bld		50	EA	\$ 749.325	\$ 37,466.25
	ICCORDODY AND CALL OF MARKET BUD TO 10/ A L fasthin ingradient)							:			į									1		
15	ISOPROPYL AMINE SALT of IMAZAPYR 28.1% A.I. (active ingredient) [GENERICS ALLOWED]	2.5 GAL	Polaris 2SP	10	EA	\$ 187.50	\$ 1,875.00		10	EA	No	Bid		10	EA	No	Bid		10	EA	No	Bld
FUNGE	CIDES										-											1
1	ALIETTE WDG (GENERICS ALLOWED)	5.5 LB	Fosetyl-AL80	5	EA	\$ 116.33	\$ 581.65		5	EA	No	Bid	Chipco Signature WDG # 678563	5	EA	\$ 146.19	\$ 730.95		5	EA	No	Bld
INIO-C																						
INSEC	ricides			1		T.	I					B/I	Acephate 97UP #	-						F. 1	6 700	
1	ORTHENE	1 LB	Acephate 97	10	EA	\$ 9.69	\$ 96.90		10		No	Bid	807324 Acephate 97UP #	10			\$ 97.90		10			\$ 72.00
1	ORTHENE	10 LB	Acephate 97	10	EA	\$ 87.50	\$ 875.00		10	EA	No	Bld	788821	10	EA	\$ 99.90	\$ 999.00	Bracket	10	EA	\$ 70.50	\$ 705.00
2	a. AMDRO 1LB (NO SUBSTITUTIONS)	1 LB		10	LB	\$ 10.58	\$ 105.80		10	LB	No	Bld		10	LB	\$ 12.36	\$ 123.60		10	LB	\$ 12.19	\$ 121.90
	b. AMDRO 25LB (NO SUBSTITUTIONS)	25 LB		20	EA	\$ 224.50	\$ 4,490.00		20	EA	No	Bid		20	EA		\$ 4,470.00		20	EA	\$ 217.75	\$ 4,355.00
,	TALSTAR F	1 GAL	Bifin Upstar	40	GL	\$ 29,00	\$ 1,160.00		40	GL.	No	Bid	PRO # 754966	40 40	GL	29.95 \$42.02	\$1198.00 \$1680.80	Talstar Select	40	GL_	\$ 34.52	\$ 1,380.80
				, ,,,																		
ADJUV	ANTS & ADDITIVES			1					1												,	
									120	ΩТ	No	Bid	#772764	120	QT	S 614	\$ 736.80	Fast Break	120	ΩТ	¢ 1995	\$ 2,274.00
1	DEFOAMER	1 Quart		120			\$ 823.20	1	120				1					Gulfstream				
2	LOVELAND X-77 SPREADER	1 GAL	Surf-AC910	500	GL	\$ 11.25	\$ 5,625.00		500	GL	No	Bíd	Di- W-+ # £20024	500	GL	\$ 35.44	\$ 17,720.00	(2 5 G=1)	500	GL I	\$ 29.85	\$ 14,925.00
3	PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (NO SUBSTITUTIONS)	1 Quart		2,000	QT	No	Bid		2,000	QT	No	Bid		2,000	QT	No	Bid		2,000	QŢ	No	Bid

	TABULATION			Southern Agric	ultural Ins	ecticides Inc.			Sunbelt Sod	& Grading	Co., Inc.			Univar U	ISA				Winfield S	olutions, L	rc	
	IFB# 14-2696-D\$		-	P.0	O. Box 218	3			819 91	th Street N	E		380:	L Corporex Park	Drive, Ste	280			4094 Paul 6	Buchman H	wy	
Sod,	Fertilizer, Herbicides and other related Aquatic Chemicals				etto, FL 34.					in, FL 3357 e County <u>F</u>				Tampa FL 3		ı			Plant Cit	ty FL 33565 h County F		
ITEM	DESCRIPTION/ PRODUCT NAME	CONTAINER SIZE	ALTERNATÉ	ESTIMATED QTY	u/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	∪/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE
4	OIL OF LIMONENE (GENERICS ALLOWED)	1 GAL	CideKick	В	GA	\$ 19.24	\$ 153 <u>.</u> 92		. 8	GA	No	Bld		8	GA	No	Bid			GA	No	Bid
			<u> </u>																			1
5	SPRAY INDICATOR/MARKER DYE (BLUE) (GENERICS ALLOWED)	1 GAL	Blue Dye	8	GA	\$ 37.00	\$ 296.00		8	GA	No	Bid		8	GA	\$ 44.69	\$ 357.52	Mystic 2.5 gal	8	GA	No	Bid
	dged Addendum # 1						Yes					Yes					Yes					Yes
	s to Local Business stracting and Environmental Crimes Certification						Yes					Yes					Yes					Yes

BID TABULATION IFB #14-2696-DS

				···										Florida Irrigation	Cumpholas De	A FIE Outdoor			Helena Che	unical Com				Red Plyer	Specialties, le		
-	TABULATION AWARD SHEET IFB# 14-2696-DS	-	-		N. 8th Stree					Sod Servi					O Calumet Stre					Box 1758	pany			324 North Hea			
					lika, AL 368					nton, FL 3				Clea	rwater, FL 337	65		Dade C	ity, FL 33526-17	58 (Office	in Palmetto I	FL)		Shrevep	ort, LA 71107	,	- 1
300	, Fertilizer, Herbicides and other related Aquatic Chemicals				t of state fire					tee County			<u> </u>	(Pine	ellas County Fir	m)	,		(Pasco C	County Firm	1)			(Out o	of state firm)		
	DESCRIPTION/ PRODUCT NAME	CONTAINER SIZÉ	ALTERNATE	ESTIMATED QTY	и/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M L	JNIT PRICE	PRICE PRICE
SODS	BAHIA SOD (1 PALLET = 400 Square Feet)								(1 PALLET =	= 400 Sq	uare Fee	t)															
A	1-4 PALLETS (400 SF - 1,999 SF)								11-							<u> </u>											
	a. DELIVERED AND SPOT PLACED		Ц						6,000	SF	\$ 0.27	\$ 1,620.00															
1	b. COUNTY PICK UP								800	SF	\$ 0.195	\$ 156.00]	
\perp	c. DELIVERED & INSTALLED (Pallet Sod)								4,000	SF	\$ 0.33	\$ 1,320.00															
В	5-9 PALLETS (2,000 SF - 3,999 SF)																				1						
1	a. DELIVERED AND SPOT PLACED								5,600	SF	\$ 0.25	\$ 1,400.00															
1	b. DELIVERED & INSTALLED (Pallet Sod)								7,600	SF	\$ 0.28	\$ 2,128.00															
-	c. SLOPE DELIVERY & INSTALLATION (Pallet Sod)								1,800	SF	\$ 0.32	\$ 576.00											_				
c	10-24 PALLETS (4,000 SF - 9,999 SF)																										
1	a. DELIVERED AND SPOT PLACED		<u> </u>						4,000	- 10	1 575	a and an	-			1											
ı	b. DELIVERED & INSTALLED (Pallet Sod)								126		1 AN	1: 1,58520				<u> </u>											
\vdash	c. SLOPE DELIVERY & INSTALLATION (Pallet Sod)						-		2.58	-	E 829	1 1511.00															
D	25 PALLETS OR MORE (10,000 SF OR MORE)									1		4 (40,000	-	<u> </u>													
	n. DELIVERED & INSTALLED (Pallet Sod)								225,000 225,000		511	1 116,000,00															
-	b. SLOPE DELIVERY & INSTALLATION (Pallet Sod)	,							(1 PALLET :	= 400 So	uare Fee																
2	ST. AUGUSTINE- FLORATAM]															
A	1-4 PALLETS (400 SF - 1,999 SF)								7,600	SF	\$ 0,36	\$ 2,736.00															
1	a. DELIVERED AND SPOT PLACED								800		5 0.26																
1	b. COUNTY PICK UP								4.00	T.		1 1,001,00															
	c. DELIVERED & INSTALLED (Pallet Sod) d. SLOPE DELIVERY & INSTALLATION (Pallet Sod)								710	-	1 1 1 1 1	t Hom															
-	KIT SAN TURBE																										
В.	S-9 PALLETS (2,000 SF - 3,999 SF) a. DELIVERED AND SPOT PLACED								1300		1 00	# STLOP	20														
	b. DELIVERED & INSTALLED (Pallet Sod)								4,000		9 64	4 230000															
									UET - 400 C		Poll - 20	O So ET															
3	418 BERMUDA SOD							1 PA	LLET = 400 S	q. Pt, 1	KOII = 30	J Sq. F1															
A	1-4 PALLETS (400 SF - 1,999 SF)																										
	a. DELIVERED AND SPOT PLACED								VII		1 50																
\vdash	b. COUNTY PICK UP								1800	1	2 G36																
	c. DELIVERED & INSTALLED (Pallet Sod)								Im.		1																
	d. ROLLED SOD- DELIVERED & INSTALLED			<u> </u>			L				-	-															

33

	TABULATION AWARD SHEET			ľ	Alligare LL	c			Dieter	s Sod Serv	ice, Inc.			Florida (rrigatio	n Supply Inc. DB	A FIS Outdoor			Helena Ch	emical Con	npany			Red Riv	ar Specialtia	s, Inc.	
	IFB# 14-2696-DS			1	13 N. 8th Str	eet			231	Zipperer	Road			174	O Calumet Stree	et	i i		P.O.	. Box 1758				1324 North He	arne Avenu	, Suite 120	
Sod,	Fertilizer, Herbicides and other related Aquatic Chemicals		l	O	pelika, AL 34	6801		į	Brad	enton, FL	34212				arwater, FL 337			Dade (City, FL 33526-1			to FL)	ı		eport, LA 71		
			_	(0	out of state	firm)	71	<u> </u>	(Mana	tee Count	y Firm)		-	(Pin	ellas County Fir	m)			(Pasco	County Fire	m)		ļ	(Out	of state fire	n)	EXTENDE
ITEM	DESCRIPTION/ PRODUCT NAME	CONTAINER SIZE	ALTERNATE	ESTIMATED QT	ry u/m	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EKTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	v U/M	UNIT PRIC	E EXTENDED PRICE	ALTERNATE	ESTIMATED QT	U/M	UNIT PRICE	
В	5-9 PALLETS (2,000 5F ~ 3,999 5F)									<u> </u>				<u> </u>													
	a. DELIVERED & INSTALLED (Pallet Sod)								100		4 000	5 3,440,00				<u> </u>											
	b. ROLLED SOD- DELIVERED & INSTALLED								4,000	9	5 645	5 1,000.00															
c	10-24 PALLETS (4,000 SF - 9,999 SF)																										
	a. DELIVERED & INSTALLED (Pallet Sod)								12,000		1 041	1 4,930.00															
	b. ROILED SOD- DELIVERED & INSTALLED								4,000	- 4	2 60	T KANDE															
D	25 PALLETS OR MORE (10,000 SF OR MORE)																										
	a. DELIVERED & INSTALLED (Pallet Sod)								Magne	10	1 439	5 34,835.00															
	b. ROLLED SOD- DELIVERED & INSTALLED								1,000	- 10	1 641	1 430.0															
	STAKE/STAPLES (INSTALLED BY VENDOR)																										
	a. STAPLES (COUNTY SUPPLIED)								O.	Ab.	A 0.04	1 000															
	b. STAPLES (VENDOR SUPPLIED)								900,000	- 34	0.00	5 1,200.00															
EEDS /	& MULCH																										
LLDG																											
	SEEDS (50 POUND BAGS)																4 53 444 400										
	a. PENSACQLA BAHIA SEED							1						400			\$ 57,011.200				1-				1		
	b. RYE GRASS (OCT THRU MARCH)													340			5 10,942,220							 			
	c. BROWN TOP MILLET (APRIL THRU SEPT.)		<u> </u>		-	ļ								340			\$ 10,942.220			1	<u></u>			<u> </u>			
-	d. BERMUDA SEED (HULLED)		<u> </u>											500	BAG	\$ 313.793	\$ 156,896.50			 			1				
	MULCH (2.0 cu ft BAGS) a. CELLULOSE MULCH(FOR HYDRO SEEDING), 60% PAPER, 40%			1			<u> </u>		1		 						-		1					1			
	WOOD FIBER (SO LB BALES)			<u> </u>	-			ļ						300	BAG	\$ 10.965	\$ 3,289.500		<u> </u>	<u> </u>				<u> </u>	<u> </u>		<u> </u>
ERTILL	ZERS 16-2-16 FERTILIZER, w/ Slow Release Nitrogen (NO													30000		\$22.516/ 50 lb											-
	SUBSTITUTIONS) 15-0-15 FERTILIZER W/ .67% RONSTAR AND SLOW RELEASE													(50# bags) 20000	LB	\$29.816/ 50	\$13,509.60										
	NITROGEN (NO SUBSTITUTIONS)					1				L				(50# bags)	LB	lb	\$ 11,926.40		<u>L</u> .	<u></u>	<u> </u>						<u> </u>
ERBIC	IDES/ ALGICIDES									H			Rangemaster 2.5/			i	1			1	1	1			1		<u> </u>
	VETERAN 720	2.5 GAL	Allgore										gallon container	2	ĘA	\$ 83.05	\$ 166.10		2	EA	\$ 84.3	8 \$ 168.76		2	EA	\$ 91.62	\$ 183.24
	ISOPROPYLAMINE SALT OF GLYPHOSATE	2.5 696	Mariante,		· u	1. 80	ance:							24	EA _	\$ 47.87	\$ 1,148.88	Range Pro	24	FA	\$ 36.2	5 \$ 870.00	Alecto 415	24	EA	\$ 40.00	\$ 960.00
	The rest of the state of the st		Affigers Glyptionale					T-T-					Isopropylamine Salt o														
	ROUNDUP PRO	2.5 GAL	4 plan	20	O FA	\$ 36.25	\$ 7,250.60		-				Chaharata /2 5 callor	200	EA	\$ 47.87	\$ 9,574.00	Dange Dro	200	EA	\$ 45.8	\$ 9,376.00	Alacto 415	200	EA	\$ 40.00	\$ 8,000.00
	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 GAL							-						£A.	1 000	1 843,495		15	EA	\$ 46.1	3 \$ 691.95		-			
	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 GAL											المتهيسال						10	EA	\$ 541.5	o \$ 5,415.00					

TABULATION AWARD SHEET				Alligare LLC	c			Dieter's	s Sod Servi	ce, Inc.		F	lorida Irrigatio	Supply Inc. DB4	A FIS Outdoor			Helena Che	emical Com	pany			Red Rive	r Specialties	, Inc.	
IFB# 14-2696-DS				3 N. 8th Str					Zipperer R				1.74	O Calumet Stree	t			P.O.	Box 1758				1324 North Hez	me Avenue	, Suite 120	
Sod, Fertifizer, Herbicides and other related Aquatic Chemicals			Op	pelika, AL 36	801			Brade	enton, FL 34	9212			Cles	rwater, FL 3376	5		Dade C	ity, FL 33526-17	758 (Office	in Palmetto	FL)	1	Shreve	port, LA 711	.07	
			(0	lut of state f	irm)	11		(Mena	tee County	Firm)			(Pin	llas County Firm	1)			(Pusco (County Firm	1)	_		(Out	of state firm)	Lagran
ITEM DESCRIPTION/ PRODUCT NAME	CONTAINER SIZE	ALTERNATE	ESTIMATED QT	Y U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNITPRICE	EXTENDED PAICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED CITY	U/M	UNIT PRICE	PRICE
		Afligare																								
a. RODEO, AQUÁ CLEAR	2,5 GAL	Glyphosate 5.4	10	EA .	43	\$ 430.00							10	EA	\$ 65.67	\$ 656.70	(Bette)	30	84	1 (68)	1 Asiam		10	EA	\$ 51.70	\$ 517
b. RODEO, AQUA CLEAR (RETURNABLE CONTAINER)	30 GAL												70	EA	\$ 636.46	\$ 44,552.20	Buden	70	14	1 315.50	2 17.485.00		70	EA	\$ 503.60	\$ 42,252
B. RODEO, ALLOA CLEAR (RETURNABLE CONTAINER)	30 044		i				1000																			
													30 ea	40 LB container												
													(offered In 8 LB container	required EA (8 lbscontainer	\$46.577 (non responsive		No.									
SONAR Q (NO SUBSITUTITIONS)	40 LB		-										only)	quoted)	no substitutions)	\$1,397.31		30	- 10	1 1212.00) MARKETON					
													(offered in	GL	none											
SONAR (A.S) (NO SUBSTITUTIONS)	1 GAL						وعمار	5	GL	No	Bld		only)	OT TO	B10,477	\$4,052.385		- 1	- 81	D LANCES) : KS0000					
SILKEN, KINETIC	1 84	STATE OF THE PARTY	- 110		1 14.30	1: 3,730-26						Capel (3 Gather contamer)	150	GL	\$ 79.988	\$ 11,998,200	Knotic	150	GL	\$ 65.80	\$ 9,870.00	Elite Marvel	150	GL	\$ 40.58	\$ 6,087
JEREN, WINETTO					1																					
																		3								
							Y - I						L .	EA	\$ 404.073	\$ 1,504.288			ga .	d 334 54	\$ 1,358.0					
SENCOR 75 TURF (NO SUBSTITUTIONS)	5 LB											24 - Damme														
MEC AMINE-D	2.5 GAL			-								(2.5 Gallon container)	20	EA	\$ 45,23	\$ 904.60	Emitrus	20	EA	S 88.75	\$ 1.775.00					1
		Alitgare Triclopyr														1										
GARLON 4 (GENERICS ALLOWED)	2.5 GAL	4EC	12	EA EA	\$ 116.13	\$ 1,394.16							12	EA	\$ 217.05	\$ 2,604,60	Second C	183	- IX	113.39	1 L0H0	Element 4	12	EA	\$ 133.80	\$ 1,605
_		Alligare Triclopyr																	?							
n. GARLON 3A (GENERICS ALLOWED)	2.5 GAL	3 SL	400	EA EA	\$ 91.08	\$ 36,432.00							400	EA	\$ 192.444	\$ 76,977.600	Element 3 A	400	EA	\$ 116.88	\$ 46,752.00	District St.	400	-16	C 130.00	1.4533
		Alligare Triclopyr															:									
b. GARLON 3A (GENERICS ALLOWED)	30 GAL	3 51	20	EA EA	\$ 1,081.80	\$ 21,636.07							20	EA	\$ 2.561.00	\$ 51,220,00	Element 34	20	EA	\$ 1,395.00	\$ 27,900.00	Charteria 3.0.	30	(64)	1 (,2)2366	Cherry
													30.00 L										50 comes in 5 Gal	.		
													Comparison A.			2 70000							ontainer- cost		4	
PLATEAU (NO SUBSTITUTIONS)	2.5 GAL				1								APRILITIES.		3 130.78	1 1101.00		50	EA_	354.63	\$ 5 17 791.50		is 25x5 gal)	EA	\$ 593.00	\$ 14,825
MILESTONE (NO SUBSTITUTIONS)	2.5 GAL												50	EA	\$ 858.333	\$ 42,916.650		- 10	TA.	A 19823	1.106636		50	EA	\$ 772.50	\$ 38,625
		Alligare Ecomazapyr										Nufarm Polaris 2										i				
ISOPROPYL AMINE SALT of IMAZAPYR 28.1% A.I. (active ingredient) (GENERICS ALLOWED)	2.5 GAL	2 SL	10	D EA	\$ 116,98	\$ 1,169.80	11					(2.5 Gallon container)	10	EA	\$ 156.00	\$ 1,560.00	Arsenal	10	EA	\$ 156.13	\$ 1,561.30	Arsenal Herbloide		U.	3 33835	li un
UNGICIDES																						L				
	5.5 LB											(Only offer 5 LB container)	5	EA	\$ 77.43	\$ 387.15	Alliette WDG	5	EA	5 133.65	\$ 668.25					
ALIETTE WDG (GENERICS ALLOWED)	3.3 LB		<u> </u>															,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,								
ISECTICIDES				Y								Acephate 90				1				V	l -					
ORTHENE	1 LB			<u> </u>								(1 LB container)	10	EA	\$ 10.00	\$ 100.00	Acephate 97 UP	10	EA	\$ 8,90	\$ 89.00	_				
ORTHENE	10 (8											Hart ter-i	- 10	- 10	1 700	5 HA30	Acrohate 97 UP	10	EA	\$ 81.00	\$ 810.00					
a. AMDRO 1LB (NO SUBSTITUTIONS)	118						1						July 1	10	C Since	9 3000										
								النسين					20	EA	\$ 275.78	\$ 5,515.60			-	710.00	1 Altem					
b. AMDRO 25LB (NO SUBSTITUTIONS)	25 LB											Allectors 7.9										AIR VE				
TALSTAR F	1 GAL		<u>. </u>					<u> </u>				15 Gallen containers	40	GL	\$ 32.87	\$ 1,314.80	8lfin I/T	40	GL	9 27.85	5 111400	Bifin I/T	40	GL	\$ 33.30	\$ 1,332
DJUVANTS & ADDITIVES					0	1															1		1			N .
		465	The state of the s														Foambuster (only offered in 1	required as	QT							
DEFOAMER	1 Quart	Affigare Anti-Foamer	125	् धा	\$ 4.52	\$ \$42.40								Of .	1 18	1 min	pint container)	120	(pint)	\$ 6,35	\$762.00		120	Q Τ	\$ 8.28	\$ 993
LOVELAND X-77 SPREADER	1 GAL												500	GL	\$ 18.07	\$ 9,035.00	100	100		5 19.00	174000	Elite Market	500	GL	\$ 40.58	\$ 20,290
PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (NO																		3,000	at	5 10.60	E 21,200.00				0 0	
SUBSTITUTIONS)	1 Quert																	0.000								1
		Alligare Trace										Cide Kick					Day to a		(ME)						Ų I	
OIL OF LIMONENE (GENERICS ALLOWED)	1 GAL	2 1/2 gallon		8 GA	\$ 12,65	\$ 101.20						(1 Gallon container)	8	GA	\$ 19.733	\$ 157.864		- 4		I HEAR	h ann	Openia Alland Manne	8	GA	\$ 21.17	\$ 169
SPRAY INDICATOR/MARKER DYE (BLUE) (GENERICS ALLOWED)	1 GAL	Alligare Super Marker Dye		8 GA	\$ 28.45	\$ 227.50							8	GA	\$ 33.80	\$ 270.40	Spec Spray Indicator		GA	\$ 16.65	\$ 133.20			- 11	1 414	14_10
						1										Н		40								J

	TABULATION AWARD SHEET			Southern Agricu	iltural insect	ticides Inc.			Sunbelt Sod	& Grading	Co., Inc.			Univar	USA				Winfield 9	iolutions, LLC			
\vdash	IFB# 14-2696-DS									h Street N			34	301 Corporex Par		280		4094 Paul Buchman Hwy					
Sord	Fertilizer, Herbicides and other related Aquatic Chemicals				tto, FL 3422 1	10			Ruski	n, FL 33571	3			Tampa FL	33619				Plant Ci	ty FL 33565			
		(Manatee County Firm)				(Manatee County Firm)							(Milksborough County Firm)										
		CONTAINER SIZE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATÉ	ESTIMATED QTY	U/M	UNITPRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PAICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	
SODS	DESCRIPTION/ PRODUCT NAME	CONTAINER SIZE	ACTENIATE	ESTIMALES CET	C/III	· ·									,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,								
1	BAHIA SOD (1 PALLET = 400 Square Feet)							(1	PALLET = 4	400 Squ	are Feet)								ļ				
A	1-4 PALLETS (400 SF - 1,999 SF)								200														
1	e. DELIVERED AND SPOT PLACED								4,000	4	5 000	4 Abrilla											
1	b. COUNTY PICK UP																				1		
\vdash	c. DELIVERED & INSTALLED (Pallet Sod)				-				4,000		1	2 2,819(0)				<u> </u>							
В	5-9 PALLETS (2,000 SF - 3,999 SF)							_							<u> </u>								
1	a. DELIVERED AND SPOT PLACED								Line	10	6 601	E - 1240000			<u> </u>								
1	b. DELIVERED & INSTALLED (Pailet Sod)								100	ű.	5 330	3 2,000 ay	-	_	 								
	c. SLOPE DELIVERY & INSTALLATION (Pallet Sod)								jan.	9	1 10	E 554.00											
c	10-24 PALLETS (4,000 SF - 9,999 SF)																						
	a. DELIVERED AND SPOT PLACED								4,000	SF	\$ 0.18	\$ 720.06											
	b. DELIVERED & INSTALLED (Pallet Sod)								8,000	SF	\$ 0.20	\$ 1,600.00			<u> </u>								
_	c. SLOPE DELIVERY & INSTALLATION (Pallet Sod)								12,500	SF	\$ 0.23	\$ 2,875.00		-									
D	25 PALLETS OR MORE (10,000 SF OR MORE)																						
1	a. DELIVERED & INSTALLED (Pallet Sod)								225,000	SF	\$ 0.19	\$ 42,750.00			<u> </u>								
	b. SLOPE DELIVERY & INSTALLATION (Pallet Sod)								400,000	SF	\$ 0.195	\$ 78,000,00			<u> </u>				1				
2	ST, AUGUSTINE- FLORATAM							(1	PALLET =	400 Squ	are Feet)											<u> </u>	
А	1-4 PALLETS (400 SF - 1,999 SF)														<u> </u>								
	a. DELIVERED AND SPOT PLACED								2,00	10	1 100	1 10-0.09											
1	b. COUNTY PICK UP																						
1	c. DELIVERED & INSTALLED (Pallet Sod)								3,200	SF	\$ 0.45	\$ 1,440,00											
	d. SLOPE DELIVERY & INSTALLATION (Pallet Sod)	-							250	SF	\$ 0.45	\$ 112.50											
В	5-9 PALLETS (2,000 SF - 3,999 SF)																						
	8. DELIVERED AND SPOT PLACED								2,500	SF	\$ 0.35	\$ 875.00											
	b. DELIVERED & INSTALLED (Pallet Sod)								4,800	SF	\$ 0.40	\$ 1,920.00											
,	419 BERMUDA SOD							1 PALL	ET = 400 Sq	Ft, 1 Ro	oli = 300 :	iq FT											
A	1-4 PALLETS (400 SF - 1,999 SF)																						
[^	a. DELIVERED AND SPOT PLACED								500	SF	\$ 0.32	\$ 160,00											
	b. COUNTY PICK UP		7																				
	c. DELIVERED & INSTALLED (Pallet Sod)								1,600	SF	\$ 0.37	\$ 592.00											
	d. ROLLED SOD- DELIVERED & INSTALLED										\$ 0.45												
	W. WOLFED 30Th. DEFLACUED & MASSIMITED				ا																		

5

TABULATION AWARD SHEET IFB# 14-2696-DS				Southern Agric	cultural Inse	ecticides Inc.			Sunbelt Sed	6 Grading										nfield Solutions, LLC -				
					O. Box 218				8190	th Street N			360	1 Corpores Pari	Define, Ste	280			4094 Faul	Buchman Hi	ev.			
Sod	Fertilizer, Herbicides and other related Aquatic Chemicals			Palm	etto, FL 342	220			Rust	in, FL 3957	0			Tempa FL	33619				Plant Ci	ty FL 33565				
				(Manat	tee County	Firm)			(Many)	ne County F	irmj				psibboroup	th County Fi	111)							
ITEM	DESCRIPTION/ PRODUCT NAME	CONTAINER SIZE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED I	ACTERNATE	printed to the	W4	ilet ma	CETHNOCO PRICE	ALTOHATE	PYTHINKY I LOY	000	MACT PROCE	community Fect	ALTERNATI	ESTREAMEN SEV	ion.	(a)) Hetz	HOUSE		
В	5-9 PALLETS (2,000 SF - 3,999 SF)																							
	a, DELIVERED & INSTALLED (Pallet Sod)								3,550	87	S 9.40	\$ 3,200.00												
									4,000		\$ 0.40													
	b. ROLLED SOD- DELIVERED & INSTALLED								THERE		3 5.50	1												
C	10-24 PALLETS (4,000 SF - 9,999 SF)				ļ <u> </u>															=				
	a, DELIVERED & INSTALLED (Pallet Sod)								2/.00	SF	\$ 0.33	\$ 4,560.00		-	-	-	-			-		_		
	b. ROLLED SOD- DELIVERED & INSTALLED								4,000	SF	\$ 4,88	ś """szanco			_	_				_				
D	25 PALLETS OR MORE (10,000 SF OR MORE)																							
	a. DELIVERED & INSTALLED (Pallet Sod)								88,000	\$F	\$ 0.35	\$ 18,800.00												
	b. ROILED SOD- DELIVERED & INSTALLED								incu	3F	.S 0,33	\$ 950,90												
4	STAKE/STAPLES (INSTALLED BY VENDOR)									<u> </u>														
	8. STAPLES (COUNTY SUPPLIED)								1	ΞΛ	\$ 3.02	\$ 0.02		_	_									
	b. STAPLES (VENDOR SUPPLIED)						<u> </u>		3,9,001	57	\$ 0.05	\$ 500.00		_		_			1					
SEEDS	& MULCH										_					_			,					
1	SEEDS (50 POUND BAGS)				ļ.,										_				_					
	a, PENSACOLA BAHIA SEED		_	400	BAG	\$ 135.00	\$ 54,000								_	_			-					
	b. RYE GRASS (OCT THRU MARCH)			340 (annual)	BAG	\$ 24.73	\$ 8,401 20																	
	c. BROWN TOP MILLET (APRIL THRU SEPT.)			340	BAG	\$ 34.00	\$ 11,560 00										2							
	d. BERMUDA SEED (HULLED)			500	BAG	\$ 278.00	\$ 139,000																	
2	MULCH (2.0 cu ft BAGS)																							
	a. CELLULOSE MULCH(FOR HYDRO SEEDING), 60% PAPER, 40% WOOD FIBER (50 LB BALES)																							
FERTIL	IZERS																							
1	16-2-16 FERTILIZER, w/ Slow Release Nitrogen (NO SUBSTITUTIONS)																							
2	15-0-15 FERTILIZER W/ ,67% RONSTAR AND SLOW RELEASE NITROGEN (NO SUBSTITUTIONS)																							
HERB	CIDES/ ALGICIDES			-																,				
1	VETERAN 720	2,5 GAL	Rangestar	2	EA	\$ 78,00	\$ 156.67				i I													
	and the same of th																							
2	ISOPROPYLAMINE SALT OF GLYPHOSATE	7 * 0.4.	Range Pro	24	EA	\$ 45.50	\$ 1,097 00						Martin Eraser # 803081	24	\$X	5 (9.DE	\$ 10,177.46							
			Roundup Pro										gall pricing 1.63											
3	ROUNDUP PRO	2.5 GAL	Concentrate	200	EA	\$ 52.25	\$ 10,450.00						reflects size	300	1A	3 17.72	1 15542.00	Assertion	100	9) nn			
4	a. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	2.5 GAL		4										5					15	EA	\$ 36.55	\$ 548.2		
	b. WEEDAR 64 (AQUATIC LABEL) (NO SUBS)	30 GAL	احسيا																10	EA	\$ 428.40	\$ 4,284.0		

TABULATION AWARD SHEET			Southern Agric			Sunbelt Sod					Univar U		Winfield Solutions, LLC								
IFB# 14-2696-DS			P.	O. Box 218	3			819 98	th Street NE	E		3801	Corporex Purk			4094 Paul Buchman Hwy					
Sod, Fertilizer, Herbicides and other related Aquatic Chemicals				etto, FL 34			1		n, FL 33570				Tampa FL 3			i			ty FL 33565		
<u> </u>	_		(Manet	ee County	Firm)	1		(Manate	e County Fl	irm)			Hillsborough Co	unty Firm		$\overline{}$		(HRIsborous	n County Fi	rm}	EXTEN
TEM DESCRIPTION/ PRODUCT NAME	CONTAINER SIZE	ALTERNATE	ESTIMATED QTY	и/м	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICE	EXTENDED PRICE	ALTERNATE	ESTIMATED QTY	U/M	UNIT PRICÉ	EXTENDED PRICE	ALTERMATE	ESTIMATED QTY	U/M	UNIT PRICE	
a. RODEO, AQUA CLEAR	25 GH.	Roundup Custom	10	EA	\$ 52,25	\$ 522.50						Rodeo Herb # 425070 Aquaneat # 753659	10 10	EA EA	\$70.70 \$73.83	\$707.00 \$738.30		10	EA	\$ 50.50	\$ 5
		Rounding Custom	70		t	\$ 42,000.00													l boot	1 194	f
b. RODEO, AQUA CLEAR (RETURNABLE CONTAINER)	30 GAL	ROUI	70	EA	\$ 600.00	5 42,000.00							-								
SONAR Q (NO SUBSITUTITIONS)	40 LB														ļ			30	EA	\$ 1,176,00	\$ 35,
SONAR (A.S) (NO SUBSTITUTIONS)	1 GAL		-	<u> </u>														6	GL	\$ 1,940.41	S S
SILKEN, KINETIC	194	Capel	150	GL	\$ 81.38	\$ 12.07.00				<u> </u>							Sinet	150	GL	\$ 85,00	\$ 5,
													_								
SENCOR 75 TURF (NO SUBSTITUTIONS)	5 LB			- 64	1 36445	5 1,6640	-				-		4	EA	\$ 373.00	\$ 1,492.00		4	EA	\$ 373 <u>.40</u>	5 1,
MEC AMINE-D	2.5 GAL		20	EA	\$ 68.75	\$ 1,375.00											lines.	30	Tax.	1 56.01	E h
					i																
GARLON 4 (GENERICS ALLOWED)	2.5 GAL	Element 4	12	EA	\$ 195.25	\$ 2,343.00						Ultra # 787593	12	EA	\$ 209.15	\$ 2,509.80	Element 4	12	EA	\$ 148.475	\$ 1,
a. GARLON 3A (GENERICS ALLOWED)	2.5 G/4L	Element	400	EA	\$ 140.65	\$ 56,260.00											Element 3A	400	EA	\$ 133,475	\$ 53,
b, GARLON 3A (GENERICS ALLOWED)	30 GML	Element	20	EA	6 769780	\$ 33,756.00											Flament 2A	20	EA	\$ 1,601.70	\$ 32.
B, GARLON SA (GENERICS ALLOWED)	30.000	Lientont	20	100	7 1,007,00	3 33,730.00	1														
				'																	
				:																	
PLATEAU (NO SUBSTITUTIONS)	2.5 GAL		-					<u> </u>													ļ
MILESTONE (NO SUBSTITUTIONS)	2.5 GAL																	50	ĒĄ	\$ 749,325	\$ 37,4
CORPORE ALLINE CALL SUBSTANTA DO SO AL factor foundament																					
ISOPROPYL AMINE SALT of IMAZAPYR 28.1% A.I. (active ingredient) (GENERICS ALLOWED)	2.5 GAL	Polaris 25P	10	EA	\$ 187.50	\$ 1,875.0								<u> </u>	<u></u>			<u> </u>			
NGICIDES															1						
ALIETTE WDG (GENERICS ALLOWED)	5.5 LB	Transfer State		-14	E 100.00	5600						Chipco Signature WDG # 678563	5	EA	\$ 146.19	\$ 730.95					
SECTICIDES																					
ORTHENE	1 LB	Acephate 97	10	EA	\$ 9.69	\$ 96.90						Acephate 97UP # 807324	10	EA	\$ 9.79	\$ 97.90		10	EA	\$ 7.20	ś
												Acephate 97UP #	10		\$ 99.90		Eradut	10		\$ 70,50	
ORTHENE	10 LB	Acephate 97	10			\$ 875.00														\$ 12.19	
s. AMDRO 1LB (NO SUBSTITUTIONS)	118		10			\$ 105.80					#*** # AND		10		\$ 12.36			10			
b. AMDRO 25LB (NO SUBSTITUTIONS)	25 LB		20	EA	\$ 224.50	\$ 4,490.00						Masterane 1.5 # 130011	40	EA GL	29.95	\$ 4,470.00 \$1198.00	=	20		\$ 217.75	
TALSTAR F	1 GAL	Bifin Upstar	<u> </u>	- 11	S Hon	1.2ev/\$-						PRO # 754966	40		\$42.02	\$1680.80	Talstar Select	40	GL	\$ 34.52	\$ 1,3
JUVANTS & ADDITIVES					1									1				1		-	0
DEFOAMER	1 Quart		120	QT	\$ 6.86	\$ 823.20	-					#772764	120	QT	\$ 6.14	\$ 736.80	Fast Break Guifstreem	120	QT	\$ 18.95	\$ 2,2
LOVELAND X-77 SPREADER	1 GAL	Seerf-Ac (1)	500	GL	\$ 11.25	\$ 5,625.00	W					Mil More & CORCOLI	500	GL	\$ 35.44	\$ 17,720.00	O S Call	500	GL	\$ 29.85	\$ 14,5
PROMATE ACCURACY, WINDBRAKE, AIRTIGHT (NO SUBSTITUTIONS)	1 Quart																				
																-					
OIL OF LIMONENE (GENERICS ALLOWED)	1 GAL	CideKick	8	<u>G</u> A	\$ 19.24	\$ 153.92															
			1		1				F						-						
SPRAY INDICATOR/MARKER DYE (BLUE) (GENERICS ALLOWED)	1 GAL	Blue Dye	8	GA	\$ 37.00	\$ 296,00							8	GA	\$ 44.69	\$ 357.52	Mystic 2.5 gal				